2wppnLghg

Epp JGUp JGp ppewjhu htnwhunuh ynw quinppnighy Gup nuncd, gnpu wuguwd uintnu
Gup ubnunid: Ophuwy, Gt wytwunp £ dwdp nUG12:30, uinuntd Gup 1,2,3 W0
uinbnutpp: Uhwuh? pytp unwlbwint hwdwn wybunp Euygpned 0 ubnub:

FninphU hwjunuh £, np Lwaqwpp ng Jhwyu Jupuynun £, wyle 6nyp E: Lw wuguwd Juuwnp
agwnnid £ phg 2wundt: Lwqwpp Jhwuguwd upuw| dwdwuwl dntinp wnbig W
wwnqtg, nn htnwhunuh EYpwuhu WYwwnytpyned £ dwdh hwdwp dntinp wpdwd pyh
24-h ypw pwdwubinLg Juwgnpnp, huy pnnwyGutph hwdwn 60-h ypw pwdwubinLg
Juwgnnpnp: Ophuwy, Gpt tnnwup 66:79, EYpwUuhUu Yuwuwnytnyh 18:19:

Lwqwnpp gwuywuncd E wuhpwdtun cwdwuwyp unwlw| hGhnwpunuh ypw
Jhuhdw| gswup gnpéwnnbny:

Unnplc wuwwnytpywé EhGnwhunuh ypw pywupwuubph 2wunpywodpn.

1 2 3
4 5 6
7 8 9

Uwuwp a pywlwlUh uintinuhg b pywluwUh untnu tntGnwthnpubint hwdwnp
wUuhpwdbtown pwlpp swhyned £ hGunlyw | pwbwaliny.

f(a,b) = [Xa-Xp|+|ya-ybl

npuntin (xa, ya)-u W (xb, yb)-U a L. b unbnuGph YynnpnhUwwnubpu GU" tnnntph W ujnLtubph
hwdwnputpp: 2QuppnLghy nuGNL swupp hwywuwp £ dwwnp wnwehu pywlywluhg

Gnunnpnht, Gpynpnpnhg Gppnpnhu W Gppnpnhg egnppnpnhu wugutnL pwuptph
gntdwphu: Opnhuwy 22:45 hwywpbint hwdwnp wuhpwdt2un swupn hwywuwn Yihuh

f(2,2)+f(2,4)+f(4,5)=0+2+1=3
UnLwp

Spjwé Equppnighgsh cwdwluwyp HH:MM alewgwithny:
dwdwlwyp ynntywn £, ywwnuwuncd £ 00:00 - 23:59 inhpnyphu:

Gip

MEwnp Ewpunwdtb unyu dLwgwihny dwdwluwyn, npn Lwgwnp wyGwnp Ehwdwph Jhuhdw)
pwlp gnpéwnnptiny: UGyhg wyt| huwpwynp wywwnwuppwuh nGwpnd wyGwnp Ewpunwéh)
wnwyb| yuwn dwdwlwynp:

Onhuwjyutip



UnLwnp.
14:19
G1p.
14:79
UnLwnp.
00:11
E1p.
24:11
UnLwnp.
12:34
GIp.
12:34



	Զարթուցիչ
	Մուտք�
	Օրինակներ�


